M ox
40 5 4

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
SAEZHRSH 38,976,050 36,305,214 2,670,836
= 3,655,758
Xl 1,184,000
J| 5,065,300
< 29,070,992
sS4E M RS - 0HHE 2 (sEHLsd/s - 5 38,935,360 36,265,524 2,669,836
)
= 3,655,758
Xl 1,184,000
J| 5,065,300
=) 29,030,302
AL 14,179,860 11,733,082 2,446,778
= 3,209,000
J| 5,015,300
< 5,955,560
ANEHBEAMD 1,026,000 1,183,500 A 157,500
202 O4dl 6,000 6,000 0
01 = LH o4 1 6,000 6,000 0
OANEJH ¥ MHol=+ RF 6,000
403 XIS E X201 & 1,020,000 1,177,500 A 157,500
01 X SHHAN2E = 1,020,000 1,177,500 A 157,500
(OFSE=PN I NV R PNESES 90,000
OANEZJ0M SZHA 150,000
oHlgoteA s 780,000
HAF =z ML 1,726,500 1,286,500 440,000
202 4Hl 5,000 5,000 0
01 S LHOIYI 5,000 5,000 0
ODHRXIHA CHEMA HRFA 5,000
307 glz2tol & 65,000 0 65,000
02 It M AHE X 40,000 0 40,000
OMIMT ISHS W 40,000
04 QIZFHALAIR B & 25,000 0 25,000
OMH ENtERZ AAUS 25,000
308 X EHHSOIA 399,000 0 399,000
01 IXNHHBHEELS 399,000 0 399,000
OMAEoll S LA 384,000
Oti= AHIXAEZ=E ME A 15,000
402 RI2EX 20| ™ 800,000 600,000 200,000
01 22t APEE X 800,000 600,000 200,000
OMarz ==5tF s =4 XA 800,000
403 UtXISHH S =0l & 457,500 681,500 A 224,000
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AR SEUAER SN SAESSH
Hi: S MM RE - 0HE L (s d/s - &)
ol A0 AP RS CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
01 HXSHMA2E X 457,500 681,500 A 224,000
OthE EIAIE UG 75,000
OxsSRELHES 4 300,000
OUMZF &I K& 67,500
OgdisedH sxEEEI N 15,000
e o R P 597,500 552,500 45,000
202 4l 5,000 5,000 0
01 = LH 4 Hi 5,000 5,000 0
Ol=3ts = 5,000
403 MtXSHHS =0l & 592,500 547,500 45,000
01 HIXSHMA2E X 592,500 547,500 45,000
Ou==ZHANMI 135,000
OMUESUHIXH 150,000
Ot MASAAI| X 105,000
Ox+==3t3 M AR 202,500
Qlabo|grx o 198,000 437,410 A 239,410
202 04 Hl 5,000 5,000 0
01 = LH 4 1 5,000 5,000 0
OQadEtx=d HRF2 5,000
402 RI2EX=20l A 100,000 0 100,000
01 It 2 AL E X 100,000 0 100,000
Oy CHRMEHZ M g2 50,000
OQa =H4EZAE N 29 50,000
403 UHXSHHSA=0l& 93,000 432,410 A 339,410
01 HXESHMA=E X 93,000 432,410 A 339,410
Ol & & &3 TH b 45,000
ogRaEXH 48,000
SRFYHD 90,000 89,000 1,000
403 A X EHHS =0l A 90,000 89,000 1,000
01 URIEHH K== 90,000 89,000 1,000
ONAS ASH2 S =4 90,000
ANEANSEMNL(21) 4,063,800 2,862,600 1,201,200
J| 3,126,000
< 937,800
403 Ut SHHSA=0l& 4,063,800 2,862,600 1,201,200
J| 3,126,000
< 937,800
01 X SHMA2E X 4,063,800 2,862,600 1,201,200
OANEJM SEMA 3,439,800
J| 2,646,000
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AT SENNER SN SAERED
a4 2 M, RS- DAY LS (SEHYLN/5Y - 5E)
ol A0 AP RS CER-ED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Ei HR=2

= 793,800
O1NF Hog AlA 624,000
J| 480,000
o= 144,000

sHiHRoI2EsE8sH(R0)(=21) 2,213,200 4,509,572 N2,296,372
= 1,709,000
& 504,200

403 XX SRS K2 0| & 2,213,200 4,509,572 N2,296,372
= 1,709,000
& 504,200

01 MXHHE2E = 2,213,200 4,509,572 N2,296,372
OAEJNANUHXNI=ZSE3 2,213,200
= 1,709,000
= 504,200

HessdHRE(=21D) 1,694,760 216,000 1,478,760
Dl 1,412,300
o=t 282,460

403 XX SHHS X201 & 1,694,760 216,000 1,478,760
Jl 1,412,300
o=t 282,460

01 XS A2E X 1,694,760 216,000 1,478,760
OMIHM2AIE & XS 1,694,760
J| 1,412,300
& 282,460

WEDNEXMANLSEWSAIG (Z1D) 130,000 0 130,000
J| 100,000
& 30,000

403 XX SHHS K20 ™ 130,000 0 130,000
J| 100,000
o=t 30,000

01 XIS A=Z2E X 130,000 0 130,000
OMNx=DNBSEANLSUS 130,000
J| 100,000
o= 30,000

ERNS MAMAIE U3 KA (ZD) 234,000 65,000 169,000
J| 180,000
& 54,000

403 "X SHSK=0l& 234,000 65,000 169,000
J| 180,000
&< 54,000

01 AXESHIE2E X 234,000 65,000 169,000
OHAMEHAIE U3 K& 39,000
J| 30,000
& 9,000
OCIMIEBHAIEY Sz X 195,000
J| 150,000
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AT SEUAER SN SMERSD
a4 2 M, RS- DAY LS (SEHYLN/5Y - 5E)
ol A0 AP RS CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
| < 45,000
s ZEagE SEHA =4(21) 1,950,000 0 1,950,000
= 1,500,000
< 450,000
403 Mt SHHSA=0l& 1,950,000 0 1,950,000
= 1,500,000
< 450,000
01 HIXSHMA2E X 1,950,000 0 1,950,000
OJsELFUESSELNELENE 1,950,000
= 1,500,000
< 450,000
ANE2UZ0F ICT 858 =HatAtY 256,100 0 256,100
J| 197,000
< 59,100
403 X SHHE A0l & 256,100 0 256,100
J| 197,000
< 59,100
01 AXISHHA=2E = 256,100 0 256, 100
OAERAUZO0F ICT E=& EAAY 256,100
Jl| 197,000
< 59,100
SAEFSEdE ¥ sdE FSFXIMM 774,500 911,500 A 137,000
SSEMSHZ e 366,000 323,000 43,000
202 044l 7,000 10,000 A 3,000
01 SLHOYI 7,000 10,000 A 3,000
O=SMHSHREN ALE 7,000
307 gl2tol & 90,000 90,000 0
04 DIZHHALALSE E X 90,000 90,000 0
ogAsSHE JHSHA 50,000
Ox=&d X =& XA 40,000
308 MtXIEHMSOIH 6,000 51,000 A 45,000
01 HXNHHNBHEELS 6,000 51,000 A 45,000
OZZEEAMY 22X 6,000
403 MtXSHHS A= 0l& 263,000 172,000 91,000
01 HIXSHMA2E X 263,000 172,000 91,000
OZZEZEC ALY ALZZHIXA 18,000
O=2ZZE ANIE & 45,000
OFZEECHHAEY 200,000
MRARSIBES 343,500 443,500 A 100,000
202 044l 6,000 6,000 0
01 = LH o4 1l 6,000 6,000 0
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AT SENNER SN SAERED
Hi: S MM RE - 0HE L (s d/s - &)
Sol: SAZMASY (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
308 X EHSOIA 156,500 192,500 A 36,000
01 HIXNHHBHNEELES 156,500 192,500 A 36,000
OsdtstddH A 38,000
OZXAISEASH X2 22,500
Ostts &8y =24 2el - N 96,000
Ad=sads 4(=21) 339,000 1,083,000 AT44,000
Xl 339,000
403 MtXISHH S =0l & 339,000 1,083,000 AT44,000
Xl 339,000
01 X SHMA=2EE 339,000 1,083,000 AT44,000
Osd=E M- ItE8 N 339,000
Xl 339,000
ANEMeAZMASHASE(S1) 1,098,500 780,000 318,500
Xl 845,000
< 253,500
403 XIS E X201 H 1,098,500 780,000 318,500
Xl 845,000
< 253,500
01 AXSHHMA2E = 1,098,500 780,000 318,500
OXS MM ZAARY 1,098,500
X 845,000
< 253,500
HELSAMESLIMNL(ESASELHSNR) (=) 100,000 100,000 0
J| 50,000
< 50,000
307 gl2tol & 100,000 100,000 0
J| 50,000
< 50,000
02 IZHEHAHE L 100,000 100,000 0
OXSAE 43t XN 100,000
J| 50,000
< 50,000
etd 2254 E AS5(=1) 184,308 0 184,308
= 169,758
< 14,550
308 XHXI &M SOl &® 184,308 0 184,308
= 169,758
< 14,550
01 IXNHHBNEES 184,308 0 184,308
OGAPRI S =Jt et A AHHI X & 184,308
= 169,758
< 14,550
AME DR 148,000 115,142 32,858
= 77,000
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AT SEUAER SN SMERSD
Ha: s42 MM, RS- DAY LS (SEHYLN/5Y - 5E)
ool AMBDS (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
< 71,000
SMAMENSE 248 K3 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
02 IZHE M AHE X 30,000 30,000 0
oAdguns 243 N 30,000
ABAY L A UFAM(ZD) 118,000 85,142 32,858
= 77,000
< 41,000
307 glz2+ol & 118,000 85,142 32,858
= 77,000
< 41,000
02 HAFHAANGFEX 118,000 85,142 32,858
OAME WS AL 88,000
= 62,000
< 26,000
OAHIXHEHE 30,000
= 15,000
= 15,000
=% =4 913,000 1,085,000 A 172,000
SAS =&J|8 235t 375,000 555,000 A 180,000
403 Mt SHHSA=0l& 375,000 555,000 180,000
01 X SHMA=E X 375,000 555,000 A 180,000
OUEHNA+==EEEZHREHE 375,000
=ZEANECLHS 538,000 530,000 8,000
202 04l 8,000 8,000 0
01 = LH o4 1l 8,000 8,000 0
OsAE =2Xd g2 8,000
308 MXIEHMSOIH 350,000 300,000 50,000
01 HXNHHNBHELS 350,000 300,000 50,000
OsS4&tE =25dH & 300,000
O=EsAE INMAUE S5 N 50,000
402 212t X201 & 180,000 180,000 0
01 A=A EX 180,000 180,000 0
O=ASoH2AAZIHAH 180,000
StusA 2EsttE 25 19,764,692 19,732,300 32,392
S4E stugs 2l 32 19,764,692 19,732,300 32,392
202 4Hl 8,000 8,000 0
01 S LHOYI 8,000 8,000 0
OsttE eEFdstngs gRFA 8,000
308 XX EHHSOIA 19,756,692 19,724,300 32,392
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